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Suimiilwey / PHYSICS

(SO wpmid ymdle eufl / Tamil & English Version)
ST yera] : 3.00 weanfl CHrd ] [ Qursg wHUCQuUeETEET : 70

Time Allowed : 3.00 Hours ] [ Maximum Marks : 70

mansg Mamrss@pd sflursl ufourdl o drargr reTUFMETE
sflurigg s Qardrereyd. éariufela GeonullGuber, sionsd
sassrenluurearfiid o Lanquwrss Gsiflelisseab.

Sidleyevrae : (1)

(2 Beob ooy sHUY awllea LLHGCD W HUSHGWD
33 &CaTyHeusH@G LwaTuBh S CeuammBb. UL RIS auenfeusn @
Quenfled LiwemI(h&SeLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@S - 1/ PART - 1

GOy : () Semensg eflenméa@Ens@n alleniwellsseb. 15x1=15
(i) Qsr@é&suulBerar mresm@ wrHM el salld Wsa D LW
oL mws GCsibbdsdsss GHULELa oo lmayb Csiss
eT(LpS@LD. .
Note : (i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

[ H®BLiys / Turn over

Kindly Send Me Your Study Materials To Us Email ID- padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

ww.Padasalai.Net www.TrbTnpsc.com

(8417 2
1. Frren feop e iph Ganen Henngaanehs rdiggsread gCE@D O
ppenenl@en it Qeodgib ekosi@durmgs flaawk ﬂ(@ul.mﬂfﬂ‘*’ SRR Y

1

The moment of inertia of a uniform rod about an axis which is perpendicular to the rod and
touches anv one end of thevod s .

|
(@) 1=MR? ) 1=—M? (9 r-%m‘

1y 2
dy I==M
12 ( 3

2. Qsuerfiar @rammb @iy, eAumanyb Caraanyb Gomars@n T Ceust
ssn weneild swuriysos ghuBssdapear. Raeilfuirang Lommr
By ShSEaTg.

(Si) Sppe (<) CpiCan’ B o psd
(B) Buéss Hppd () Csmeaar 2 psid

According to Kepler's Second Law, the radial vector to a Planet from the Sun sweeps out equal
areas in equal intervals of time. This law is a consequence of Conservation of

(a) energy (b) linear momentum

(c) kinetic energy (d) angular momentum

3. Epissm_supper ey Siwewws Ghlsdng ?

1
() (x + vt) (1) (x=v1)? (&) sin(x+vt) (/) x(x+vt)
Which of the following represents a wave ?

1
@ 5 Y (b) (x~vt)? (¢) sin(x +vt) (d)  x(x+vt)
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&IFET @ann Syran culL. QuisssAnE e-LuBHpng. GCarenr e-pHb sl Curmss,
DTS ?
(=) aulgden o aiGar gCuaIbd Gm Laraflanws
(=) aulLgden evwwGans
(Q) el gPen QaualiGu gGsaud G Leraflenw
() el iufHuded gCagud @ Lieraflanw

A particle undergoes uniform circular motion. The angular momentum of the particle remains
conserved about :

(@) any point inside the circle
(b) the centre point of the circle
(c) any point outside the circle

(d) the point on the circumference of the circle

QumrmQerranm DTS HensCeussHed Qérru Qerrriurer Lurllde Geogib Curg)
SWP&SRTLUDMIET 6Tg FTHHWID ?

(=) Qumr@efler g Lpeilens WL (HID Q&u.né)u@aﬁlmgﬂ

(=) Qumgpeflen Wgrer QsTEGUWen ellens &L

(®) Qumrmefler Bg Qwés 2 rmie] wL G Cewau@Eng

() Qummeflen Bg ellens ggib QswaduL eflwame

When the object is moving at constant velocity on the rough surface : R

(a) only external force acts on the object 2

(b) mnet force on the object is zero

(c) only kinetic friction acts on the object

(d) no force acts on the object

gty elFuleng, Lbwer wHmID GeuliufleaosErer auamyuLL :

(=) @0 CpisCan) () @G parau i
(8) @@ uraamenuib (F) @@ euLLb

The graph between Volume and Temperature in Charles’ law is :
(a) a straight line (b) anellipse

(c) a parabola (d) a circle

[ $liys / Turn over
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7.

10.

pOSILOY cumy ey awjflenauie e_drar Gurgl 1aaihb leTa satle erger iy
sPwrg ?

(=) sorafly HaaGousid (e2,) rms Gousid

(@) Bsapud sngHuoren Gausmd () syrafl Goustd

A sample of ideal gas is at equilibrium. Which of the following quantity is zero 7
(a) average velocity (b) rms speed

(c) most probable speed (d) average speed

GeligngamiQuig. geaidler COP g 4 o,@LWb. SOOJ Qauiugms GefliangenL
Qui iyl mEg QauaiCupp CuaT@Cwaled eaeaeare) GCama GWFalwLLL
Gauakt(Rid ?

(<=1) 600 ] (=}) 66.67 ] (@) 50] () 757

A refrigerator has COP of 4. How much work must be supplled to the refrigerator in order
to remove 300 J of heat from its interior ?

(a) 600] (b) 66.67] (© 50] @ 757

(}Loﬁo)_%' -ar uflredanss SLP&HERTLeUDHDIET GFQ';I'QUQ.),ES]@&@LE) ?

(1) SasGausid 4 (<) Hemd

(&) dlens (/7)) &meuid
Which of the following has the dimension of (kog0) 72 is
(a) Velocity (b) Length

(c) Force (d) Time

@ sLser iy 25 m QYrepoLw alLage ehuraslle gia o &HMH
aADNT. el HLHS CFTM®6| WHHID DLbHS QuiQuuirgs) :

(1) 785 m, &L (<=1) 942 m, &I

(&) 125 m, &0 () &ifl, sl

An athlete covers 5 rounds on a circular track of radius 25 m. The total distance and
displacement travelled by him is :

(a) 785 m, zero (b) 942 m, zero

(c) 125 m, zero (d) zero, zero
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sullen Qeuliuflenay o WFGSLILLLTED, BT Wki-GamsLD |

(1) @ifls Setey o wimid

() wrprg

(8) Bsé& Geopeurer sjatey o wimd

(F) @epyb

If the temperature of the wire is increased, then the Young’s Modulus will :
(a) increase rapidly

(b) remain the same

(c) increase by a very small amount

(d) decrease

s Hepwerer @ Qurmersdr m, wHmb m, GG CrrEGam_gd wapGw 5ms™!
wpmid —9 ms~1 erenm HensGeusiisaildr Qutigdlamer. Curgemeng B8 Gorge
arafled, Gursé@Lider my wHmb m, Qunpeasaier HasCoushser papGu :

(=1) —9ms™1 LD[bg]Lbehs‘l (<) —4 ms~1 wHmID 10 ms™?

(@) 5ms~! Hmib 1 ms~1 () 10 ms~1 opmd 0 ms~1!
Two equal masses m; and m, are moving along the same straight line with velocities 5 ms ™!

and —9 ms~1 respectively. If the collision is elastic, then calculate the velocities after the
collision of m; and m, respectively.

1 () —4ms~!and 10 ms~
1

(@ —-9ms~land5ms™ 1

() 5ms~land1ms™? (d) 10 ms~land 0 ms™

Sp&aaL_ @enemaarie) eTene @g_‘r,g'urﬂmrrmgmg, Qupmerer QDN HaTeysHET ?
(21) Spuyeas woph Sper () eflews LHHID Hper

(8) fens wppd Hpiyedos () Hpuyeias LOMIL DD

Which of the following pairs of physical quantities have same dimensions ?

(@) torque and power (b) force and power

(c) force and torque (d) torque and energy

[ Slpliyys / Turn over
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14. Garer genfled 50 m e wrdHedmpbg QummQermenm &G apdng. S ga)umu_l
DD TOEES Qanenenid Cpyid 2 ey erafld, Garafldn UL POSEHHT
wHiy erenan ?

() g=15 ms~—2 (<2) =20 ms=2 (&) g=30 ms—2 () g=25 ms=2

An object is dropped in a planet from height 50 m, it reaches the ground in 2 s. e
acceleration due to gravity in the planet is :

(@) g=15ms™2 () g=20ms~2 () g=30ms~2 (d) g=25ms >

15. safl eased gam Ws <fs 2 wph QsrarL sl iyl s8d Qsrbsel Ul BHarer

Curgl, ffles wwe QupfleowuliCGure saalsmsurar eargib Sleargwd
Qussgms Cup@aradipg. swhamaliyaallambs 4 m GQgreneeid, 2ase
&g e (WPHSEHWIENG 16 ms~2 erafled Sisen jeneva| CryLD :

(=4) 2ws (=) 2s (@) ms (FF) 1s

A pendulum is hung in a very high building, oscillates to and fro motion freely like a simple

harmonic oscillator. If the acceleration of the bob is 16 ms 2 at a distance of 4 m from the
mean position, then the time period is :

(@ 2ms (b) 2s () s (d 1s
L&l - 11/ PART - 11
@Il : aemeuCGuenid ymi famrasersE elewellEsab. e eremr 24 -&(©&
sLLmuwng el weflfsea| . 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.

16. Ayt afler @ram_reug elfews sams.

State Newton’s Second Law,

17. PV cuenyULLD GTENMTE) GTerlen ?

What is a PV diagram ?
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jop; A A -3 A A 3 ¥ . v ’ ’ - .
A=57— 3}‘. B=d4i46] Qeudi_figmenen Qe Lssmiserrams Qmream_ (psGamengfn

urLGenend &eawrad [Ha.

Calculate the arca of a triangle for which two of its sides are given by the vectors

-3

A -—)
A=51-37, B=4{+6]

grrefl Gorgelen grrseas UTHE@n srraflsd wrame ?

What are the factors affecting the Mean Free Path ?

uflorerr werpuled QsrRsstLrL @upwed swearm et sfur crar Candisayb.
v=u+at

Check the dimensional correctness of the given physical equation.

v=u-tat

poLpen arpaid HAoluyeleas vwaTLESSLLHL THSHEETLHEET
BQramgmensd sams.

Give any two examples of torque in day-to-day life.

@&558liey alargEs. r(HSSHIGSTL(H &(H .

Explain Resonance. Give an example.

FTOL LD aUeIUMIGSED OHID Sigem udlaans &(ms.

Define the Gravitational Field and give its unit.

@ ean_sgdld @adlulicr Cousib 900 ms~ 1. earn_siHldr @i Yeraflifer 2 HAL_risafle
SLEGWD Sieasein eramaflGens 3000 crafldr Bmabaémss sras.

The speed of wave in a certain medium is 900 ms~1, If 3000 waves passes over a certain
point of the medium in 2 minutes, then compute its wavelength.

[ Hiliys / Turn over -
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L@&$ - 11/ PART - 111

GOLY : stemauCuienid gyp NanrssEnéE oL wefl&aa . Merm erawr 33 -&(&
sLLmuwns edlenLwefl&Egald. 6x3=18

Note : Answer any six questions. Question No. 33 is Compulsory.

25. QausLi Qupssaier LaTLsmer (g5 (TGegbd M)

Write the properties of Vector Product. (Any six)

26. aumuysseflen Qussellwn Qarateanasdsrear er(HCHETETEMET CT(HFIS.

Write down the postulates of Kinetic théory of Gases.

27. gm Quiiy 25 N efesufame 15 m @LUQuuisd gpuBorn @uwssLuBEng.
edengs@n, QLUAuuiESED @ Gu o drar Camennd 30° erafled, eSlensufleanmed
Qe L Ceauemaeamws sTeanms.

A box is pulled with a force of 25 N to produce a displacement of 15 m. If the angle between
the force and displacement is 30°, find the work done by the force.

28. yealflenes glenemaGaEmer wHMID Gmeud gemensGarer — fm GHILLY euenrs.

Write short notes on Geostationary Satellites and Polar Satellites.

29. Qeulubd ugeb GleucuGeouny auflpenpsener allarsEs.

Explain various modes of heat transfer.

30. @uayflow eomie wHpb Quss eymiedler Apliys smsamer RUIPs.

Compare the salient features of Static and Kinetic Friction.
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31.  essdions snpmis sibu &meilued apevengHmEHd erenpmred eresan ?

What is meant by end correction in Resonance Air Column apparatus ?

e

32. f@uy evssgn, Camanr 2 beSHDPED G Guwrer Qgmiy wrg ? "

What is the relation between Torque and Angular Momentum ?

33. 1Q0 m‘.lﬁm‘@;pdrm PO sbQwrerg 1.25x1074 m2 gm&E Qail@rurleus

5"5“TQG‘TGT§I- G 5 kg v@peilng 2L u@ssLURHDE. sHINLAUTmHeilear wrs

GEWD 4xX1019 Nm=-2 grafl®r s 2 mauranr Bl Aows sersd®Hs.
(8=10 ms~2 erens Qamers) .

A wire 10 m long has a cross-sectional area 1.25x10~% m2. It iséubjected to a load of 5 kg.

Iﬂf1 You'ng's Modulus of the material is 4 X101 Nm~2, calculate the elongation produced in
e wire.

(Take g=10 ms™2)

UGS - IV / PART - IV

GOy : Semensg lamsasEnsEnd o weldseb. 5x5=25

Note : Answer all the questions.

34. (=) Gensafler QeucuGaim eismssamer eflfleurs eflerésayib.

3{6V60F)
(=) srpidled @aluien dews Coussdlparear Bl e swaur oL efeufldsan ¢
whmb erleadicn Srsssams efleTsgea .
(@) Explain in detail the various types of errors.

OR

(b) Describe Newton’s formula for velocity of sound waves in air and explain the Laplace’s
correction.

A [ Hwliys / Tum ové;r
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35.

37.

(o)) cuenanayd srevasalar QaeflefaflibLy e g miLgedr Gprashd erener ?
ellend @8

S|V
() umevase eNHews sams. Fwud grsdufer Qeudurien eileré@s.
(a) What is the need for banking of tracks ? Explain.
OR

(b) State Pascal’s law. Explain the working of Hydraulic lift.

(=) eoww CpréE WwhsssHDaTar Careneuenits QLms.
S|V
(=) Qautin Quipdrsens eferésd, wiger Lwam HpensaTans: Careauews QuIS.
(a) Derive the expression for Centripetal Acceleration.
OR

(b) Explain the heat engine and obtain its efficiency.

(=) smereldellan Hanser enavaysener alleuil.
S|6060 g

(1) smiisargdled 2 mHEpgsme afleull wHmib s WPHE&ESSHDETET Foemum_enL
Qums.

(@) Describe the horizontal oscillations of a spring,.

OR

(b)  Describe rolling on inclined plane and arrive at the expression for the acceleration.
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: 38. (1) () Hper - U TWLINSSaD. Hpafien FCaaib @ran® SVGSMT H(55.
g @) fu(i:zg Lﬁ]’@fﬁ‘fﬁm,@' Senapd 8 wenfl Gy @p LIESHDEG (30 Hri_séT)
e SHUULL T mIsTiuc L S Omene 06T D& EHRTEE(HS.
Sievevg)
()0  soansCarenan T TN
; " El)l) Yellulenens FpOId Heveller @ pnanas sarsd@s.

a 1

(®) @

(i) Calculate the ener

Define Power, Give any two units of Power.

: gy consumed in electrical units when a 75 W fan is used for
8 hours daily for one month (30 days).

OR
Derive an expression for energy of satellite.

Calculate the energy of the Moon orbiting the Earth.

-00o0-
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